20/170 F*

I R AN /5 RepAA

'7“% 57 =R R
Yéﬁﬂ}k’f‘? R 2y H— RHRT" =

o«mmrf

/%> H >E

QAM c( d
(fp«’&ELT 'ér £ 54y

6{%\% > =RH 1% -:RH_)J>E B
CRIE> s, - b3 o 54 WREE
Rit>- S Do) =l
, ’tﬁ?% g’gqﬁ’ ix

V?é%l&,é s R‘ ¢f>3 W> [ +a>>
(N ULDL S D)d) +Dm> |
_;g(‘w.? *b ‘@cm CES o 8D Dm -
EETRT %—fft—ms /ua,, Rm'_@

/Qé% ‘# D(R)
R ¥DRO

j R = = \ Dcf?o DR

Rl, = Ry¥ = ‘P@u’%,) S
D(R b Dcm D (RZ.J
D(é;'—— Be S
,D(R”') [D(m] -




<
Dy BT{RIO AT A IFES & e 1y

R L{Vi;‘fa/f\/

o o [ -f--‘ .{__ _[__ _—(; .:?‘,¥, - -
Ry =%p —$itg P PIRIRY =5 ——
o =pD1YTYD |
= DD «—
L . D Y U tary 155
Y = (‘1(>.I\Pa> %> )
iy - Hl“h ~ J%S)
<%{I / e
L ALDY - - < \{a “Pd> —\ ,
= D s / TR IBER
YYD -~ <Y Yd> <a > =
= Ed

K OI2ET o w38 (h=( BZ®TE)
I

R (R - g AT DTS A

Dewr): £57 e
%ﬁFﬁé/J\JJ%oL Soc _EHSRT < | 1S AT
Kq)* i+ —~ |
=2« nT)Y =P D(|-ISxn :L)
\

/= 13 DA
ERZENDL S DI D R (55 e & b &)

Jxdy e — Jp Jz X2k K -+ I3
Tzt = ¥ DL:ro

Je (4> - JY>) = CUP> (,b\ L% >) D (32

J= () \b—?> f Yia> -

m T /_ LPU\>
<t
N ~h . )
= (S [ g e




M > (=10 Jb>1Jee BAKESE
= [%M>Dmm(jz),_,_ . )
Diw (T2 = M Stm -~~~ (i:(/)

T (B> = A | Jimm [ Yz >

= / (ILM > Dmm (0}.) - —_ a
Diem (Te) = (T (J2mH) O mm
- D

=
3
\/
))

_ @D &2D T I 31T 71

DJ(Jz) D(g=) 127+ /ZJBTU %
Spin ~J AR,

— AR 1< Ewlon A (x A.r) T = &3
R Re(2) Re(I) Rr(z) = €t eH6%k p ~10
DY(Rgwy) = D7 (e=Je g 7 647 )

= DI(e™R) DI (e2l) DI (e4Th)
L[> =|Jm> M=-7 )
' Dmm(_R) = <,Jm , )_j >
= Jm [ xR 0T 0 ATR [ T >
gT",——/ Th———
- :M(-M—<—J'\—mf.) e:&tmlvf:ms

= BT’ | €T T & AT

D (Regr)) = ©3&m ot Vi © AT

<J e R >
SCAW/haeh BoSoA tﬁ]“j dmm G\/i/k

Sosom
Looat]=~/, [aa]l =0  [Jatat]-=0

010220 pp>e—L patypfon

ot [”) = Nh “/])
VA N S x> CY e




0
0

-

RNE

-

la

g
-
—-

X
L

L LQ‘\Q"]:O \ [QJ\Q-TJ

l

E—1%

ra..at]

A+ ¥ Q13 32T

ST SR

AN

S
/

O

_/..._‘

\ oP

M’kuf \_M')

nter A1

OL=/Q+\
\4- )

SO
—

Jq

o

)

e
)ESAS

~ 0\
J
C0;

[
\

>

J

nt

h\
0/
) L0 s

n

N

-

| [
NN
A

03

¢

- A 2\

0L 5 (Oike O, O 5

—_ T

J-n

2\

At L
2

1 rr\.f- I(‘r\\

/ré

T O S00 ag Uy

J Vg

S
3PE,
SN
T (=
N
g
_ R
ENPN -
|+
SIS
WPTL
L 3

/-

2 &

RN

S

lana

T+l lr'
S
(l

J=0 )

(Toa_ s

~Sus
(_6\1)048 (.Q )/33 s

———

N

ok

| At

[ & )
SRR PE Y \"53)8,9%_,9

)
T

PN ol B\

it

Q

N ﬁ

Re = 7 Ur (%

PN

Gt

Jr8Us

0y J8s
—

J A

AW

+

[ A
> X

Yo

Ox

J !

ST

——
—




N
pe 8,0 3 Oﬁk
= &k d = eno_ = ) &gk Jk
N—— e —
Jk

— |
T e (R TET 0 T
Q
=—-{al0-at0s +eciee—ara ) o =)
.'__J (olo A /H./)‘IL ) ,_L Y \2
2\\41‘\/\*\/\—— —TU\-(A V\-\-\«H—/T ( ,,.»—-/{,‘/
\T/ Q“_{.l n- 00t + |
"+ N~ \ﬁi
A - \
/ > Jx oy \'J N \
:jri_ A ’ VL—t—-O\ Az
Jt = U4 U=
- At A ‘rZ'—"—\LU’I**-%\)
\ Jd- = A- A4 =
_—ol (@
T =L sttty =l D Y+ ="
: [
Z W=

Za_ | 3 .

RS e —
~— { 2 ~ ~

\,) = ‘iyl__ _— _W_U‘ - J (J"F ) \ _ _ e o




v g O O g g g g g g : g g g g = = < g g < g O O O O O < g = v

=S = A TS

A

Ao THEN=>= N lHs A=,

AN

—/_5""“>‘%_/‘“7’("ﬁ=—;7—+-w—\—%2-_.—= F ;1»,7>
QY™ (AL
~ QeI GemoL

=2

THFm> =T G+ 1 5m> = JG+) > —
R o> G =)=

eI mS e ]l




